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BGGET-142 : ECONOMIC GEOGRAPHY 

Time : 3 Hours     Maximum Marks : 100 

Note : All questions are compulsory. Marks are 
mentioned against each question. 

Note : Answer question nos. 1 to 5 in 500 words 
each. 

1. Discuss any five traditional approaches of 

Economic Geography. 10 

Or 

What are the indicators of development ? 

Describe the indicators of demography, 

infrastructure and amenities.  
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2. Define resources. Explain three aspects of the 

functional theory of resources. 10 

Or 

What is mineral resource ? Discuss the world 

distribution of mineral resources. 

3. What is pastoralism ? Describe different forms 

of pastoralism with suitable examples. 10 

Or 

What are non-wood forest products ? Explain 

the various uses of non-wood forest products. 

4. What are mineral based industries ? Highlight 

their advantages and disadvantages with 

suitable examples. 10 

Or 

Write a detailed account on Auguste Losch’s 

theory of industrial location and mention its 

criticisms.  

5. What are commercial activities ? Discuss its 

various types with suitable examples. 10 
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Or 

What is network analysis ? Explain network 
analysis with suitable examples and diagrams. 

6. Answer any five of the following questions in 
250 words each : 5×6=30 

(a) Describe the key points of system analysis 
approach. 

(b) Differentiate primary and secondary 
economic activities with suitable examples. 

(c) Explain landuse and land cover 
classification in India. 

(d) Write a note on types of minerals with 
suitable examples. 

(e) What is dairy farming ? Explain 

employment opportunities associated with 
dairy farming.  

(f) Explain in-situ mining with suitable 
examples. 

(g) Describe any two advantages and 

disadvantages of micro, small and medium 
enterprises. 



 [ 4 ] BGGET-142 

   

7. Write short notes on any five of the following in 
150 words each : 5×4=20 

(a) Institutional approach 

(b) Subsistence agriculture 

(c) Renewable resources 

(d) Fisheries in India  

(e) Tertiary sector 

(f) Problems of Indian cotton industry 

(g) Capital cost 
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ch- ,l-&lh- (lkekU;) (ch- ,l- lh- th-) 

l=kkar ijh{kk 
twu] 2023 

ch-th-th-bZ-Vh--142 % vk£Fkd Hkwxksy 

le; % 3 ?k.Vs     vf/dre vad % 100 

uksV % lHkh iz'uksa ds mÙkj nhft,A izR;sd iz'u ds lkeus 

vad bafxr gSaA 

 

uksV % iz'u la- 1 ls 5 rd izR;sd iz'u dh mÙkj  

500 'kCnksa esa nhft,A 

1- vkfFkZd Hkwxksy ds fdUgha ik¡p ijaijkxr mikxeksa ij 

ppkZ dhft,A  10 

vFkok 

fodkl ds lwpd D;k gSa \ tulkaf[;dh;] volajpuk 

,oa lq[klk/uksa ds lwpdksa dk o.kZu dhft,A 

2- lalk/u dks ifjHkkf"kr dhft,A lalk/uksa ds dk;kZRed 

fl¼kUrksa ds rhu igyqvksa dh O;k[;k dhft,A 10 
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vFkok 

[kfut lalk/u D;k gS \ [kfut lalk/uksa ds fo'o esa 

forj.k ij ppkZ dhft,A 

3- i'kqpkj.krk D;k gS \ mi;qDr mnkgj.kksa ds lkFk 

i'kqpkj.krk ds fofo/ :iksa dk o.kZu dhft,A 10 

vFkok 

xSj&dk"B@ydM+h ou mRikn D;k gSa \ xSj&dk"B@ydM+h 

ou mRiknksa ds fofo/ mi;ksxksa dh O;k[;k dhft,A 

4- [kfut vk/kfjr m|ksx D;k gSa \ mi;qDr mnkgj.kksa ds 

lkFk buds ykHkksa@iQk;nksa ,oa gkfu;ksa@uqdlkuksa ij izdk'k 

Mkfy,A   10 

vFkok 

vkxLr ykW'k ds vkS|ksfxd vofLFkfr fl¼kUr ij 

foLrr̀ fooj.k fyf[k, ,oa bldh vkykspuk dk 

mYys[k dhft,A 
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5- okf.kT; fØ;k,¡@xfrfof/;k¡ D;k gSa \ mi;qDr mnkgj.kksa 

ds lkFk blds fofo/ izdkjksa ij ppkZ dhft,A 10 

vFkok 

tky@ifjiFk fo'ys"k.k D;k gS \ mi;qDr mnkgj.kksa ,oa 

fp=k ds lkFk tky@ifjiFk fo'ys"k.k dh O;k[;k 

dhft,A 

6- fuEufyf[kr esa ls fdUgha ik¡p iz'uksa ds mÙkj (izR;sd) 

yxHkx 250 'kCnksa esa nhft, % 5×6=30 

(d)  iz.kkyh fo'ys"k.k mikxe ds izeq[k fcUnqvksa dk 

o.kZu dhft,A 

([k)  mi;qDr mnkgj.kksa ds lkFk izkFkfed vkfFkZd 

fØ;k@xfrfof/ ,oa f}rh;d vkfFkZd 

fØ;k@xfrfof/ esa vUrj crkb,A 

(x)  Hkkjr esa Hkwfe mi;ksx ,oa Hkwfe vkoj.k 

oxhZdj.k dh O;k[;k dhft,A 

(?k)  mi;qDr mnkgj.kksa ds lkFk [kfutksa ds izdkjksa ij 

,d fVIi.kh fyf[k,A 
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(³)  nqX/'kkyk@/suq df̀"k D;k gS \ nqX/'kkyk@/suq df̀"k 

;k m|ksx ls lacaf/r jkstxkj ds voljksa dh 

O;k[;k dhft,A 

(p)  mi;qDr mnkgj.kksa ds lkFk Lo&LFkkus [kuu dh 

O;k[;k dhft,A 

(N)  lw{e] y?kq ,oa eè;e m|e@m|ksx ds fdUgha nks 

ykHkksa@iQk;nksa ,oa gkfu;ksa@uqdlkuksa dk o.kZu 

dhft,A 

7- fuEufyf[kr esa ls (izR;sd 150 'kCnksa esa) fdUgha ik¡p 

ij laf{kIr fVIif.k;k¡ nhft, % 5×4=20 

(d)  laLFkkxr mikxe 

([k)  fuokZg@thfodk df̀"k 

(x)  uohdj.kh; lalk/u 

(?k)  Hkkjr eas eRL; ikyu@m|ksx 

(³)  rr̀h;d {ks=k 

(p)  Hkkjrh; dikl m|ksx dh leL;k,¡ 

(N)  iw¡th@ewY; ykxr 
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